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BACHELOR'S DEGREE PROGRAMME 
(BDP PHILOSOPHY) 

Term-End Examination 

December, 2016 00639 
ELECTIVE COURSE : PHILOSOPHY 

BPY-002 : LOGIC : CLASSICAL AND SYMBOLIC 
LOGIC 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) 	Answer all the five questions. 

(ii) All questions carry equal marks. 

(iii) Answers to question No. 1 and 2 should be in 

about 400 words each. 

1. Provide a sketch of the history of symbolic Logic 20 
from Aristotle to modern Logic. What is the 
common thread between classical and modern 
symbolic Logic ? 

OR 
Why all terms are words but all words are not 20 
terms ? Explain. 

2. Provide the rules for good definitions and discuss 20 
why definitions are important in logic and in 
philosophy. 

OR 
Provide a formal proof of validity for the following 20 
using the nine rules of inference and ten rules of 
replacement. 
J v (-1 K v 
Kv (--qv K)/ 
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3. Answer any two of the following in about 
200 words each : 

(a) Describe the four types of categorical 10 
propositions, A,E,I,O. Give example for 
each. Provide a diagram of the square of 
opposition. 

(b) Construct a formal proof of validity for the 10 
following argument : 

(i) 	(x) (Dx 	--I Ex) 

(x) (Fx 	Ex) / (x) (Fx 	Dx) 

(c) How is Logic related to Metaphysics and 10 
Epistemology ? 

(d) Discuss the distinction between deductive 10 
and inductive Logic. 

4. Answer any four of the following in about 
150 words each : 

(a) Explain syllogism with example. 	 5 

(b) What is the relation between Logic and 	5 
Language ? 

(c) Describe universal quantifiers with an 	5 
example. 

(d) Describe briefly different kinds of dilemma. 	5 

(e) Explain Venn Diagram with suitable 	5 
example. 

(f) What do you mean by rules of 	5 
replacement ? 
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5. 	Write short notes on any five of the following in 
about 100 words each : 

(a) Rule of Hypothetical Syllogism (HS) 	 4 

(b) Division 	 4 

(c) Middle Term 	 4 

(d) Modus Tonens 	 4 

(e) Inductive fallacy 	 4 

(f) Figure 	 4 

(g) Fallacy of illicit minor 	 4 
(h) Contra position 	 4 
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(i) 	(x) (Dx 	—I Ex) 

(x) (Fx = Ex) / 	(x) (Fx = —i Dx) 

(c) a 	81101 	coll-1 1-&-11 at 711-4+-4114 d)tlTriffq-ff 

t? 
10 

(d)  31TTP:FRTIT 	-1 1 1 4-1110-14) c-I 10 
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(a) -11q-d147 (syllogism) 1 dqituf TEFO oLlIt•t.11 

qrzR I 

5 

(b) d 	YUt•A 3 	14TrEff 	ITT 	t ? 5 

(c) tT4Wl41 4RA-witch-I 	dcituf Trkd 	-f 	Tf 	I 5 

(d)  fq-rwlont( 	31TzE:41qiiTI7404 -44 auk -1-F--A7 I 5 
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(f) T4 317 	rErr T:11:r41 	? 5 
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5. fcreir TIN sfq 	1 TR WPM 100 Wg1 11 TfraTf duLi uiqf 

?mill-4 I 

(a)tql:FMTNM -iv-1(111.g (HS) t F-N 14 	 4 

(b) fT4IT79 	 4 

(c) -WM.  trq 	 4 

(d) ThU aliq 	 4 

(e) 377719.  Atrf 	 4 

(f) 31Ted 	 4 

(g) afigrgra.  311:SCaf TR trf 	 4 

(h) -5rffftrft-4-47 	 4 
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